« ALGEBERA
J

'BY ADITYA RANJAN

<hl fareiuame
« Maths By Aditya Ranjan PDF INDIA # qg;ﬁ aR
» Rankers Gurukul

e UPDATED CONTENT
- e TYPE WISE

| _ e LEVEL WISE
S 4 e BILINGUAL
e ERROR FREE

MATHS SPECIAL BATCH

| Enroll 1 & faw



https://t.me/mathsbyadityaranjan
https://youtube.com/c/RankersGurukul
https://play.google.com/store/apps/details?id=com.rgvikramjeet

ALGEBRA (chtxf.kr)
(Practice Sheet - 4) (MISCELLANEOUS)

Find the value of

(123+177)* +(123-77)"
(123)* +(77)°

(a) O
(c) 2
Find the value of

(b) 1
(d) 4

(148 + 69)" - (148 - 69)°

148 x 69
(a) 2 (b) 4
(c) 1 (d) O
1 . 1 . + ;
\/§+1 \/§+\/§ .............. \/E+\/E
(a) 6 (b) 8
(c) 7 (d) o

If 5% ;15%% — 13%x, then the value of xis :
SSC CHSL 5 July 2019 (Afternoon)
(b) 8
(d) 4

(a) 2

(c) 1

If g¥x , g¥= = 10%%, then the value of x is :
SSC CHSL 8 July 2019 (Afternoon)

(a) 2 (b) 16

(c) 4 (d) 8

If /86 -60J2 = a-b/2,then what will be

the value of /g2 +p2, correct to one

decimal place?
CGL Tier-1I (11 September 2019)

(a) 8.4 (b) 8.2
(c) 7.8 (d) 7.2
If x = \/I+§—\/l—§, then the value of
J2 - x
2 +x will be closest to :
CGL Tier-1I (11 September 2019)
(a) 0.17 (b) 0.12
(c) 1.4 (d) 1.2

10.

11.

12,

13.

If \/10_2@ +\/8+2\/E =.Ja +/p,» where
a and b are positive integers, then the value
of /ab is closest to :
CGL Tier-II (12 September 2019)
(a) 4.6 (b) 5.9
(c) 6.8 (d) 7.2
ab(a - b) + bc(b - c) + ca(c - a) is equal to :
CGL Tier-1I (13 September 2019)
(a) (a+ b)(b- c)(c- a)
(b) (a-b)(b + c)(c- a)
(c) (a=Db)(b- c)(c- a)
(d) (b-a)(b-c)(c-a)

3 V45 ++/605 +/245
= — 6— =
Letx= 927 =0 g Y™ 5o ias

then the value of X2 + y? is :

CGL Tier-1I (13 September 2019)
223 221
(@ Sg b) Sg
221 227
() 5~ (d) —5~

Ifx*+xyP+y'=2land >+ xy+ y* =17,

1 1
then the value of (? + ?) is :

SSC CGL 3 March 2020 (Afternoon)

~

(a) (b)

4
7
(c) @ -
If X+ Xy + y* =273 and x¥* - xy + y* = 13,
then the value of xy is :
SSC CGL 5 March 2020 (Afternoon)
(a) 4 (b) 8
(c) 10 (d) 6
If 16a* + 36a%b? + 81b* = 91 and 4a? + 9b? -
6ab = 13, then what is the value of 3ab?
SSC CGL 4 March 2020 (Morning)

INY S I SR

3
(b) by

3
(d) ~ 5

(a) -3

(c) 5
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14.

15.

16.

17.

18.

19.

20.

If 32 = 277 = 81° and abc = 144, then the

arase
value of 12 a 2b 5c
SSC CGL 6 March 2020 (Morning)
17 o 18
@ 120 ®) 1o
18 o B
©) 120 @ 10
The value of 5,3 +7./2 -./6 -
TN T
is :
CHSL 14/10/2020 (Afternoon)
(a) O (b) 16
(c) 12 (d) 10
8+2y3

=a\J3-b +
f3«/§ ‘5 , then the valueof a+ b

is equal to :
CGL 2019 Tier-II (18/11/2020)

(a) 18 (b) 15
(c) 16 (d) 24
If 2 = x"'—l, then the value of x is
1+
5+1
2
equal to :
CGL 2019 Tier-II (18/11/2020)
4 b) 1
(@ 13 (b)
1s P ]
(€ 13 d 75

If2x+y—2z - 88z—5—y : 54y—6z - 25y+z ; 34x—3z

= 9** % then the value of 2x + 3y + 5zis:
CHSL 13/10/2020 (Morning)
(b) 44
(d) 28

(a) 56

(c) 32
7 5

If 47.2506= 4A+— + 2C+_+6E then the

value of 5SA + 3B+ 6C +D + 3E is
(a) 53.6003 (b) 53.603
(c) 153.6003 (d) 213.0003

If jx/x = (xx/7) then x equals
(a) (b)

(c) (d)

A0 O
NIW WIN

21.

22.

23.

24,

25.

26.

27.

28.

29,

Ifa?+a+1=0thenthevalueofa®*+a*+1
is:

(a) @®
(c) O

(b) 1
(d) a+1

If x=16,then x*-17x®+ 17x*-17x+ 17 is
(a) O (b) 1

(c) 4 (d) 3

If x=11, then x°- 12x* + 12x® - 12x%2 + 12x
-1lis

(a) 5 (b) 10

(c) 15 (d) 20

If x = 86 then x7 — 87x° +87x° — 87x*

+87x° -87x*> +87x+50="?is
(a) 126 (b) 136
(c) 146 (d) 156

If x 8 then th 1 f — /—— 1-
= — then the value o
2 \/ -1-

is

(a) -3 (b) 1
(c) -1 (d 3
W J3 hen find Vi+x Ji-x
If x = ? then fin 1t lex 1-V1-x is
J3
(a) 3 (b) -
2
(© 73 (d) 1
If(x-a)(x-b)=1&a-b+3 =0 find
3 1
(x_a) (x_a)S
(a) 18 (b) 36
(c) 27 (d) None
Ifa-b+5=0 & (x-a)(x-b)=1 then find
3 1
(x_a) (x_a)S.
(a) 110 (b) 140
(c) 105 (d) 115
x+ x2—1+x— x2—1_34 Find
x-Ix?-1 x+x*-1 " mex
(a) -1 (b) -2
(c) £3 (d) -4
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30. If then 352 _12x+19+y3x%>-12x-11=6

then \/3x% —12x+19-3x? —-12x-11="?

(a) 4
(c) O

(b) 3
(d) 5

31. If [x2_12x+7+yx?-12x-7 =2then find
the value of \/x2 _12x+7 -\x?-12x-7="?

(a) O
(c) 7

(b) 1
(d) 9

33.

Ifax +by=4,bx-ay=3, x> +y*> =5 find
a+ p*=7?

(a) 15 (b) 5

(c) 35 (d) None
Ifx*+y®+2°=3(1 +xyz), P= y+z-x,Q= Z
+x-y,R= x+ y- z then what is the value
of

P3+ Q*+ R®*-3PQR ="?
(a) 9 (b) 8
(c) 12 (d) 6

4 )
1.(c) 2.(b) 3.(a) 4.(b) 5.(b) 6.(c) 7.(a) 8.(b) 9.(d) 10.(a)
1.0) | 12 | 13.@d) | 14@) | 150 | 16 | 17.0) | 18.0) | 19.00) 20.(c)
21.(c) | 22.b) | 23.b) | 24.0b) | 25.d) | 26.(c) | 27.(b) | 28.(b) | “29.(c) 30.(d)

L 31.(c) | 32.(b) | 33.(c) )
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